TB 126 S AXF/N\—YJRX










AL A4

A3 AZE A27 A19 AZ0




B &=, IN=YF HA4X N=VES
A3 |7—LFxl)— 36022397
A5 |RSAEI LA 32021979
A6 |0—5—=I(F 36022631
A7 |B—5— 35022635
A8 |Twiryg 33022634
A9 |/RILE M12X50 2-02648
A0 |[E> 33022649
All EIYIEH Ty v— 36020164
A12 |/RJLE M8X20 2-02047
A13 |7y v— M8 2-00212
Al4 |79 v— 33020826
A15 J7R)LE M20X40 2-80001
A6 Ty v— M24 2-01248
A7 JEIVEY D4X40 2-00654
INER [=PeaVls M24 2-02316
A19 |FETv v— M16 2-01045
A20 1O0v9+vk M16 2-01163
A21 |RSA T4 7099 25436063
A22 |RJLE M10X40 2-80050
A23 |7RJLE M10X70 80108079
A24 |FETy v— M10 2-00213
A25 1O0v9+vk M10 2-01019
A26 |RAYERILE M12X16 80162056
A27 |Fvk M12 2-91640
A28 [iRERILE 86200005
A29 [HRAT vk 86500020
A34 |/F—X 35022061
A37 HEAR—X 36022063
A38 HEI=HA> 86200106
A39 I7h—X 35022051
A40 LHEAR—X 36022062
A4l HEI=A> 86200038
A42 L/ \—(43) 87190500
A43 IL/A\—(E) 36022088
Ad44 179 v— D12 2-00214
A45 |Fvbk M12 2-80002
A46 |T—L)H Assy 5-300899
A4T |V ERT— 32021993
A48 |axv4 86200121
A49 |axo4 86200005
A50 |94 86200148
A51 [/\)LD 86990058
A52 |axo4 33016158

33014110

A53 7h—XR 4-330275




B21 B1% B22 B10

B27 B26



B &=, N—=Y4 HA4X N—=VEE
Bl |[E—KJLAH—R—X 36022460
B2 |[RSA4T425 7899 25436063
B3 |k M10X70 80108079
B4 |HRJLE M10X40 2-80050
B5 |FET7vyiv— M10 2-00213
B6 |OvoFvk M10 2-01019
B7 |RZvERARILE M12X16 80162056
B8 |Fvk M12 2-91640
B9 |[E—KFJLAH—TF—LIULE 32021988
B10 |[EY 33022678
Bl |RFvTYLT D12 2-00025
B12 | RJUvFa T+ 36022673
B13 |RAR—H 33022677
B14 |[RTY> 45 33008474
B15 |24 H0vk 33022676
B16 |TFT vl vr— 2-00212
B17 |Bvo+vhk M8 2-01020
B18 | vl vr— 2-02710
B19 |TFT v v— 2-00214
B20 |Fvk M12 2-91639
B21 |E—FILAH—TF—LITYY 36022625
B22 |BvH+vhk M12 2-01021
B23 |H A7 vk 86500020
B24 |1k—X 35022606
B25 LHEAILE 86200005
B26 |JL—RXxAHh/\— 36022481
B27 |L—RXHzA 36022477




c18 €19

€13 €12 C11




B &=, N—=Y4 HA4X N—=VEE
C1_JRILE 2-00319
C2 |TA4RITyv— 33020004
c3 |E—FJLAHh—T1R%Y 36022499
C4 INILEILT Y v— 81900015
C5 |FUR=vTIL 81800800
C6 |RILE 2-02809
Cc71_|Fvk M8 2-00128
C8 |RAX2Fvy—IL (A) 36022629
Cc9 |YV—ILEY 33022650
C10 |[E—FILAH—T 4RI YHR—F 36022484
Cll |YV—=ILVRLART Y —XR 36022644
C12 |7viv— 2-00210
Cc13 |/RJLk 2-01923
cl4 |RFT)> 5 33019703
ci15 |E> 81471070
C16_|H R~ vk 86500139
c17 |[E—FIJLA4h—7—L 36022568
ci8 |[E> 33022651
Cc19 |RFvyFYry 2-71587
Cc20 |E—FJLAh—7—LEERER 36022581
c21 |7 avsy 33022620
c22 |FL—k 36022577
C23 |*FETviv— 2-00213
c24 |RILk 2-02668
c25 |o527 36022623
Cc26 |RILE 2-80041
c27 |E—FIJLAH—F—LEEEIY S 32022146
c28 |[E> 33022622
c29 |[EY 81450530
Cc30 |E> 33022621
C31_|RFvyTYyg 2-01130
C32 | AR~ Yk 86500020
C33 |*r—X 35022322
C34 |/h—X 35022323
C35 |MERILE 86200005







B &=, IN=YF HA4X N—=VEE
Fi_|[RSAFEULA (ETFRLCYD 36021980
F2 |AvyoF vk 80355022
F3 |[#EXLY 33019491
F4 0245 85600118
F5 |HARZ7vbk 86500018
F6 |RIERL 33019492
F7_loY)> 45 85600225
F8 [P AAvR 33021261
F9 HARZvhk 86500128
F10 |H R~ vbk 86500127
=i POPZI=P 33021982
F12 /Ny tyk () A) 86521979
F13 |2 U4 Assy 32021979




G3 G2

[o7el



B &=, IN=Y% HA4X N—=VEE
Gl |2 B (FT253—) 36021984
G2 Ty AR—H 33019509
G3 [Ty 3-80105
G4 |Fvbk 80355022
G5 |BERLY 33019491
G6 oy 4 85603087
G7_HAR7vhk 3-80038
G8 |RiIERLY 33019492
G9 oy 4 85604187
G10 |~NvyK 33019501
Gl11 | HRZ vk 3-80048
Gl12 |[HAR~7 vk 86500122
G13 [Py Ovhk + E#EH 36021986
Gl14 |D9vir g 3-00624
G15 |/\vF vk 86521983
G16 |T—LIH Assy 32021983

PP 3-80105

AR—H 33019509

Jyi g 3-00624




K




B &= N—=Y4 HA4X N—=VEE
H1 |2 % (Fo3—) 36021992
H2 |[EXRY 33021991
H3 | AR vk 86500079
H4 oY 4 85602043
H5 oY% 85603100
H6 [ U HEAYE 33021996
H7 ARk 86500085
H8 |H R4 vbk 85500006
HY [Py 4 OvEk 33021995
H10 |Aavk 33022274
H11 |E—=FILAH—TF—LYITrI)H Assy 32021988
H12 |2 3 —)LE vk 86521988







B &= IN=YF HA4X N—=VEE
PV (FT253—) 36022147
12 |EXL 33022273
13 | AR vk 86500079
14 _JoY> 4 85602043
15 JoY>4 85603100
I PP RSN 33021996
17 | AR vk 86500085
18 AR~k 85500006
CHl POPZI=PI 36022149
110 |Y—/)LEEE A Assy 32022146
11 2o —)LEyk 86522146




TB 126 5

L12
L11

L1

L4

3

L



B &=, N—=Y4 HA4X N—=VEE
L1 |[avko—iL7—L4 36020980
L2 |k 2-02332
L3 |7viy— 2-00213
L4 |Fvbk 2-01019
L5 |[arbo—)L7—L OKFEh) 36008837
L6 |[FUR=vTIL 81800800
L7 |R9Y)a1— 80108069
L8 |BREEFELEXAyFHREY 84400058
L9 |RHa1— 2-02675
L10 |Z7aT45% 35022371
L11 | Fvbk 2-01021
L12 |Tyiv— D12 2-71545
L13 |[EY 81450860
L14 |32 kO—)LF7—L2 GKFEh) 36008838
L15 [a>ka—IL7—L /\VRIL 36020128
L16 |RHYYa— 2-02378
L17 |Tyiv— D6 81200006
L18 [Ty v— D6 81010006
L19 |Fvhk M6 2-00127
L20 JRHY)a1— 2-80013
L21 |Tyiv— D4 2-00209
L22 |Fvbk 2-01018
L23 |HARARALYF 84600001
L24 [BREARAYTF 84400009
L25 |ZAMRAAYF 84600002
L26 3> kaO—S5HHR—k 34011994




M43 M46 M4Z

M23 M22

M13 M12

M24 M25 M26 M27



B &=, IN=YF HA4X N—=VEE
M1 N 36022433
M2 |JURZYTIL 81800800
YEE s DPZ) 85604487
M4 |URHI IV ETRYIR 33011072
M5 |[RHYa— 80038055
M6 Dy — 81010010
M7 X 36011172
M8 |EYiEDHFFE YT Sk 80375055
M IRFYLS 88062080
M10  |[UFHIaVFTAR—X 33010378
M11 ARk 8650001 1
M12 [Tyiv— 81010006
M13  [RHYa— 80038026
M14 A AILLRILT =D 81213691
Mi15 |[RHY)a— 3308841
M16  INF7YLS 88630205
M17 U hsi— 33009051
M18 |ZBkh/N— 33009154
M19 [RHa— 80038025
M20 |¥— 81500835
M21 | T—1)— 33010137
M22 [Ty v— 61000832
M23  |[RHY)a— 80038037
M24 |R=/r—)LRTOvSY 32014180
M25 LEEZOvY 33014654
M26 ARk 86500020
M27  [RERILE 86200005
M28 |BHEI=HA> 86200076
M29 |iBEET 86100010
M30 Ty v— 86500021
M31 =AY 33014166
M32 [2=A4> 86200038
M33 =AY 86200040
M34 |EIEZFHE—3— 200V 1.5~22KwW 83933215
M35 [RHY)a— 80038038
M36  |[Tyiv— 81010008
M37 vk 80416008
M38 [RH)a1— 80038040
M39 |T—1— 33009291
M40  |RAZYEARILE 80162025
Y2 S 87160032
M42 A F—~—o5 36022647
M43 |THRB—FIT— 5 36022648
M44 |RH)a— 80114012
M45 [Ty v— 81010006
M46  |[RH)a1— 80108031
M47  |¥— 81506080
M48 1O T\ HO Ry T 33011173
M49  |H R4k 86500015




N13 N14 N14

N9




B &=, N=Y% HA4X N—=VEE
N1 JREVFILTL—k (ZH1R) 36022660
N2 |EEEX 33022663
N3 |REVF)ILO—5— 33022659
N4 |O5oTHHR—rREY 33022665
N6 |Fvk 80466014
N7 |REVRILaxdT4r 05 OvE 33022662
N8 |axoT4>5OVREY 33022664
N9 |axoT4050VREY 33022666
N10 |E> 81450330
N1 |95 TA—T=2 5 T4RY 33022655
N12 |VORO Y —F )L AR—H— 33022656
N13 |Z7BXTv—FIL 33022657
N14 |7y v— 81010024
N15 15wk 81445024
N16 |52 F 432824
N17 | R—k 432828




Q7

08



B &= N—=Y4 HA4X N—=VYEE
o1 [PU BT ¥Th 36021976
02 |HAR7vk 86500004
03 |[EXkY 33012995
04 o4 85603081
05 A F+—RTY Y 33021998
06 |THRZ—FIWARTIYT 33021997
07 |REVELYY A —OvYR 33022653
08 |RR—H— 33022654
09 |HAKYLS 86500077
010 o) 4 85604525
011 JREV KLY ER—F 36022542
012 |7virv— 81010012
013 |RYa— 80108098
014 |Fvk 80445012
015 |H R4k 86500005







&5 N—Y4 H4X N—=yES
Pl [REI=vMRE/N— 36022482
P2 |RHUYa— 80108053
P3 [Ty v— D8 81010008
P4 [REI=VMEER 36021742
P5 |Fvk 80416008
P6 |VL/AEK/NILTD 86100093
P7 YL /AE/NILD 86100092
P8 [HERILE 86200005
P9 |*F—X 35022051
P10 JRARYE 86200025
P11 FHREI3I =Yk Assy (TB126S) 31410048
P12 |7&HEHRILE 33014104
P13 |fR7vv— 86500020
P14 LHEE—%— 200V 1.8Kw 83948720
P15 |ZARESEIVY 86100011
P16 JRAYE 33014198
P17 I\ 1TS54 TL—k 33014199
P18 |TUNUFvHI/NILTD 33009994
P19 |7y y— 86500017
P20 |F¥vv7 86200020
P21 | Y HR—F 36020076
P22 |REEVL/AK/\ )LD TJ0OvY 86990110







B &= =Y HA4X N=VES
Y PP PP IPYEDIS 86990281
Q2 |72 86990207
Q3 |1NL7Jovy 86990226
Q4 |¥=/h—ILK 86990250
Q5 |YU—2/\L7J 86990208
Q6 |Fzvo/NILT 86990211
Q7 _|VL/AK/NLT 86990196
Q8 |HARZTYEFEYE 86990212
Q9 |'R>TFxvb 86990169
Q10 |74J)L2—F vk 86990210




R14

R7

RS




B &= IN=YF HA4X N—=VEE
NI EZEDINIER PR TL)) 84450009
R2 |[H—=I)LUL— 8-12A 220V 84500043
R3 [FSU R 84100043
R4 |72—X 10.3x38 (4A) 84800304
R5 |RAYF 84710016
R6 [AARAYF 84700022
R7 1527 H/\— 84990680
RS |5>F (NILD) 84990172
RO |[J21—XkRILA 84990679
R10 |TLYRY AL RTF LY R—k 36020835
Ri1 |H—FybhiR—F 32020608
R12 [TL4HRY AL AT L Assy (TB126S) 31210115
R13 |J2—XHkILA 84990678
R14 |EiEHE 32022470
R15 |EdER L7 32020832




|
S10 511

m %@
Fi



nari03
テキストボックス
Ｓ１

nari03
テキストボックス
Ｓ２

nari03
テキストボックス
Ｓ１

nari03
テキストボックス
Ｓ２


B &= N=YF HA4X N=VES
S1 HEAR—X 35022059
S2 HEAR—X 35022058
S3 HEAR—X 35022061
S4 HEAR—X 35022061
S5 HEAR—X 35022051
S6 HESR—X 35022051
S7 HEAR—X 35022051
S8 [HEAR—X 35022060
S9 PHEAR—X 35022060
S10_iEAR—X 35023323
S11 PAEAR—X 35022322
S12 AEAR—X 36022063
S13 IBEHR—R 36022062




00024021

(614 ] [24 ] (2] | [oa] | [eal | {34] | €4 373 | vann | |
o g | & |0 L4 o - L] o -
9 e . e la s s v e 2 It L| 5| a]91{os|oy 18] | 81| 85| B
L4 o E-4 E-2 L3 = E:4 L » r-4
-] r-3 & » 2 E-4 -4 & E-] r- R E- o r-4 a2 k-4 - -
vl el |21 0| e g|alv¥ nwtor { 68| ¢ s|lvlejalt
AV
END
NI
AN
1 el olsts|s|m
o & & - o - = -4
]
€ |@ [ (o2 [ef | |a |9 [w1 [
2NJ
\|>J
£
e a2 2 o 61 gt Jal 1 El
vd
Tie mm/lo mm/ﬂo E/@ f &/40 a/ﬂo nw/uo mw/|o mw/lo mm/lu
¢ g E € £ £ 3 £ ¢
£ £ £ £ £ € £ € £
03ud
oWn_u
anojap
= (=5
&3
61|61 |65 | oY oy |es | sL
WE
i ™
VAN A
vy [bs| pa _ vS | #1L
13
-
¥l |PS | PY
2ty 113
15 ISR RE R ]

u.—zm.—:..junc&:uqc_u_:mupnpuzuq:_u
17181SN3 KOD 0XAYND 130 3ND1Z3L0dd

49

- ENGLIsH - Operator’s manual



TB-126S EBERE R

IG AMURSLYF

RT1 ¥—=)LL—

RT2 H4—=)LL—

TR1 FS2URITH—T— (FSUR)

CN1 aRVE2ES

CN2 aRVE2ES

CN3 aRVE2ES

CN4 ORVEZES

CN5 aRVE2ES

F2 72—X (4A)

F3 72—X (4A)

Y1 YL/ARIR LT

Y2 YL/ARILT

Y13 YL/ARILT

Kl =5 3vyb)L—

K2 =5 RybJL—

SL /Rq1avr32F

BM A 4—0Ov%)

M1 EEEE—45—

M2 SHEE—45—

PA REEIEREY
P1 Frvx>JBHRAREY
P2 FrvxJHRAREY

S3 WARRAYF

S4 Z—ARRAYF
S5 Z“ARRSYF
PE 7—X

CP EERRE—FYIBERAYF

y




0
c Jlﬁl% - — 10
WW — i
X |
12 H P <
19 o -
vab Al lss
H Pl LS ™
— 09
13 val A BLS
H Pl LS TN
‘ ‘ 08
1 ce |m><-_ MW!
H_ Pl LS m |
15 Y A 17 Sl 07
16 wal Bl
P| LS ™
20
| 4) ld
gl B ol 106
[—b
ﬂ 05 o4 S
M 03
@ 02 é
01

_ 00022807

- ENgLisH - Operator’s manual 55



TB_1 263 5m AEI‘:':E% X

1 FA4LE329 81)vykIL)
2 4173
3 FAIKRLT (3.8cc)
4 FT—H8— & RoThyFUry
5 MEE—5—
6 1JY)—2/3)LTF (150bar)
7T RSARVYE—RAYL/ARILT
8 T—LINUF—RYLI/ARINLT
9 Y—ILIUE ETRYL/ARILT
10 Fyv¥X2JRAYL/ARNILT
11 HiEFHF
12 FroyXxo RV F—
13 Y—ILEFRAIIVE—
14 T—LIoF—

15 E=FITLAh—RIRSAEI) 25—
16 FrvXx o JRRSARI) 5 —
17 RSARVY A —RRR/ILT
18 Y=L Y A EEERYL/ARNILT
19 Y=Y EEERI) U F—
20 B2 1I—YUL/ARINLVT
21 EAHE
22 V) E—OvH LT



r | A

EC DECLARATION OF CONFORMITY

We, Mondolfo Ferro SPA, Viale dellindustria, 20 - 61037 MONDOLFO (PU), ITALY, do hereby declare, that the product

) TB126S- TB126 D-TB 126 N
te which this statement refers, manufactured by us and for which we hold the relative technical dossier, is compliant with the
following standards: .

- EN 150 12100-1 ; EN |SO 12100-2
- EN 60204-1

with reference to EC directives:
- 2006/42/EC

- 2006/95/EC

- 2004/108/EC

NMondolfo, 03/10

Ing. Corrado Bassoli

IMPORTANT: The EC declaration of conformity becomes null and void if the equipment is not used solely with Mondelfo Ferro
original accessories and/or in compliance with the instructions provided in the Operator’s Manual.

The form of this declaration is compliant with EN 45014,

N /
e A

DEcLaRATION DE coNForRMITE EC

Nous, Mondolfo Ferro SPA, Yiale dell'industria, 20 - 61037 MONDOLFO (PU), ITALY, déclarons que appareil

TB1265- TB126D-TB 126 N

objet de cette déclaration, dont nous avons élaboré {e livret technique, restant en notre possession, est conforme aux nomes
suivantes:

- EN IS0 121001 ; EN |50 12100-2
- EN 602041

sur la base de ce qui est prévu par les directives:
- 2006/42/EC

- 2006/95/EC

- 2004/108/EC

Mondolfo, 03/10

Mondoifo Ferro S.p.A.
Ing. Corrado Bassoli

IMPORTANT : La déclaration de conformité EC n’est plus valable si Pappareil n’est pas utilisé uniquement avec les accessoires
d’origine Mondolfo Ferro etfou, de toute facon, conformément aux indications contenues dans le Manuel d’utilisation.

L.e modéle de la présente déclaration est conforme a ce qui est prévu par la norme EN 45014,

N /

151




- N

EC - KoNFORMITATSERKLARUNG
Mondolfo Ferro SPA, Yiale delllindustria, 20 - 61037 MONDOLFO (PU}, ITALY, erkldrt hiermit, dass das Produkt

TB126S5- TB126 D-TB 126 N

worauf sich die vorliegende Erkldrung bezieht und dessen technische Akte diese Firma entwickelt hat und innehdlt, den
Anforderungen folgender Normen entspricht:

- EN SO 12100-1 ; EN 150 12100-2
- EN 60204-1

auf Grundlage der Yorgaben durch folgende Richtlinien:
- 2006/42/EC

- 2006/95/EC

- 2004/108/EC

Mondolfo, 03/10

Mondolfe Ferro S.p.A.
Ing. Corrado Bassoli

WICHTIG: Die EC-Konformitdtserkldrung verliert ihre Gilltigkeit, falls die Maschine nicht ausschlieBlich mit Original-Zubehir von
Mondolfo Ferro undfoder nicht unter Beachtung der in der Betriebsanleitung aufgefithrten Hinweise verwendet wird.

Die vorliegende Erkldrung entspricht in Form und Inhalt den Yorgaben der Norm EN 45014,

\ J
e A

DecLaracion EC DE CONFORMIDAD

La empresa abajo firmante, Mondolfo Ferro SPA, Viale dell'industria, 20 - 61037 MONDGOLFO (PU), ITALY, declara que el pro-
ducto:

TB 126 S - TB126 D -TB 126 N

al cual se refiere la presente declaracién y del que hemos redactado y poseemos el correspondiente expediente técnico, se
conforma a las siguientes normas:

- EN 1SO 12100-1 ; EN 50 12100-2
- EN 60204-1

en base a lo contemplado en las Directivas:
- 2006/42/EC

- 2006/95/EC

- 2004/108/EC

Mondolfo, 03/10

Mondolfo Ferro S.p.A.
Ing. Corrade Bassoli

IMPORTANTE: La declaracién EC de conformidad caduca en el supuesto que la maquina no sea exclusivamente utilizada con ac-
cesorios originales Mondolfa Ferro y/o en cualquier caso en cumplimiento de las indicaciones contenidas en el manual de use.

E| modelo de la presente declaracibn se conforma a lo dispueste en la EN 45014,

N /

152




4 )

Dichiarazione CE di conformita

Noi Mondolfo Ferro SPA, Viale dell'industria, 20 - 61037 MONDQOLFO (PU) - ITALY, dichia-
riamo che il prodotto

TB126S- TB126D-TB 126 N

al quale questa dichiarazione si riferisce e di cui abbiamo costituito e deteniamo il
relativo fascicolo tecnico & conforme alle seguenti norme e/o documenti normativi:

- EN SO 12100-1 ; EN ISO 12100-2
- EN 60204-1

in base a quanto previsto dalle direttive:
- 2006/42/CE

- 2006/95/CE

- 2004/108/CE

Mondolfo, 03/10

Mondolfo Ferro S.p.A.
ing. Corrado Bassoli

IMPORTANTE: La dichiarazione CE di conformita decade nel caso in cui ta macchina
non venga utilizzata unicamente con accessori originali Mondolfo Ferro e/o comunque
in osservanza delle indicazioni contenute nel Manuale d’uso.

11 modello della presente dichiarazione e conforme a quanto previsto netla EN 45014,

- s

153



154



155



MONDOLFQO FERRO

MONDOLFO FERRO S.p.a.
Viale dell'industria, 20 - 61037 MONDOLFO (PU) Italy
info@mondolfoferro.it
www.mondolfoferro. it

COMIM - Cod. 87820320A - 03/10 - Rev.2





